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Part 1

- Questions 1-8 :
Read the following text and fill in the blanks (1H8) to complete the sentences. For

each blank, you have four choices given below, Choose the correct option and write A,

B, C, or D in boxes 1-8 on your answer sheet,

(Adapted from Amy C. Edmondson, Teaming: How organizations learn, innovate, and compete

in the knowledge economy, Jossey-Bass, 2012, p.1.)
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. on
. Therefore
. stand off
. success

. . who

. collective
. break

. idle

. in

. Unfortunately

. keep out of

. successful in

. whom

. professional

. drop

. trivial

C. Otherwise

C. turn down

C. succeed to

C. those who

C. individual

C. excel

C( vague

. o

. Likewise

. call for

. succeed in

. those whom

. Dpassive

. give

. enormous



Part 2

Questions 9-15 :
Read the following text, choose from A-I the phrase that fits each blank (915 and

write the letter on your answer sheet. There are two extra options that are not used.

(Adapted from “A vaccine to reduce methane emissions from livestock”, 2022, https://www.
springwise.com/innovation/agricuiture-energy/a-vaccine-to-reduce-methane-emissions-from-

livestock/)
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. across different geographies and systems of farming

. with estimates ranging from 30 to almost 100 per cent

. that total livestock emissions are even higher

. other methane-reducing innovations

. on regularly recurring vaccination programmes

. turning animal manure into biogas

. one of the world’s most significant reductions in GHG emissions
. enough to need only periodic administration

. into a more sustainable industry



Part 3

Questions 16-19 :

Combine three phrases from the table below to complete the conversation. Then,

select the option from 1 to 8 that matches your answer.

Example:
Question 0 !
Tyler : How was your weekend?
Sam : Great! I went to see a movie with my friend from high school.
Tyler : 0 ?

Sam : Yes, I did. It was very exciting!

(A) Did you (A) like to see that movie (A) that is‘coming out
- = next week
(B) Would you (B) see that movie (B) that just came out _
1. (A)—=(A)—(4) 2. (A)—(A)—(B) 3. (A)—~(B)—(A)
4. (A)—(B)~—(B) 5, (B)—{A)—~(A) 6. (B)—(A)—~(B)
7. {(B)— (B)—(A) 8. (B)—(B)—(B)
Answer;

The best combination is:
(A) Did you= (B) see that movie = (B) that just came out

Therefore the answer ist 4. (A) = (B) = (B). So you write!

0

4




Question 16 !

John  : Hello, George, this is John.
George | Where are you? _
John : T'm sorry to keep you waiting. I'll be there in thirty minutes.
George : What happened?
John 18
George : There's no hurry. Take your time.
i th the other side, I
(A) T n'nssed e (A) the other si e,l got (A) to make up for
train at Roma on the next train, I this
Street and, on tried
=
(B) I changed trains (B) mistake, I got on one
t ith
at Roma Street bound for Robina. I'lf (B) to put up wit
the delay
and, by buy you lunch

1. (A) = (A) > (A)
4. (A)—(B)—(B)
7. (BY—=(B)—>(A)

Question 17 :

Linda :

Peter

Linda :

Peter

Linda :

Peter

2. (A)—(A)—=(B)
5. (B)—(A)—(A)
8 (B)—(B)—(B)

Have you heard the proverb, “you are what you eat”?

. No, what does it mean?

If you eat healthy foods, you will be healthy, and...

: I always eat junk food and fast food.

17

: 1 suppose you're right. Thank you for the advice.

3, (A)—v(B)—’(.A)
6. (B)—(A)— (B)

junk food, you
will not

(B} be cured of a
disease. You'll

(A) Eating junk (A) an increased risk
food regularly . of disease, You (A) be a balanced diet
may lead to should
=
(B) If you don’t eat

(B) change your diet

1. (A)—(A)—~(A)
4. (A)—(B)—(B)
7. (B)—(B)—(A)

2. (A)—(A)—(B)
5. (B)—(A)—(A)
8 (B)—(B)—(B)

— 6 —

3. (A)—=(B)~(A)
6. (B)—=(A)—(B)




Question 18 :

Tom : I'm looking forward to seeing Bob for dinner tomorrow.

Riz : Me tool It must be about four years since we saw him.

Tom : He'll be all grown up now.

Riz : Yes, he turned 20 last month.

Tom : I hope he likes the restaurant. What time is the reservation?

Riz : Oops! I - 18

. I'll book a table somewhere else.

(A) forgot to
reserve a table

(A) last night. We
should think twice
about whether

(A) ihe restaurant will
be fully booked by
now

(B) forgot reserving
a table

(B) for tomorrow night.

The chances are

{B} he lkes the
restaurant

1. (A)—(A)-+(A)
4. (A)—(B)—(B)
7. (B)—(B)—(A)

Question 18 :
Mike
Cavin :
Mike
Cavin
Mike

Cavin : I agree, 19

2. (A)—(A)—(B)
5. (B)—(A)—(A)
8. (B)—(B)~(B)

! I'm really worried about global warming.

Me too. Are you doing anything about it?

! Nice idea. Also, recycling is important.

3. (A)—~(B)~(A)
6. (B)—~(A)—(B)

© 'Well, T always turn off the lights when I'm not using them.
i That's greaf:. Ido too., and I replaced all my bulbs with LED ones.

(A) All the world
should cooperate
and take action

(A) after climate
change

{A) accumulates
rubbish

(B} Humans are in
charge

(B) to stop global

warming before it

{B) is too late

1. (A)—=(A)—(A)
4. (A)—~(B)—~(B)
7. (B)—=(B)—(A)

2. (A)— (A)~ (B)
5. (B)—(A)— (A)
8. (B)~ (B)— (B)

3. (A)—(B)—(4)
6. (B)—~(A)—(B)




Part 4

Questions 20--23 :

Read sentence A, then rearrange the words and phrases in the brackeis in B to make
a senténce with a similar meaning. In each question, there is ONE word or phrase
that is not used. Then, in boxes 20-23 on your answer sheet, write the word or phrase

that is not needed to complete the sentence.

Example:
0. A : Last night Peter declared his love for Emily.
B : Peter [that / very / Emily / told / loved / he / last night] her.

The completed sentence B is “Peter told Emily last night that he loved her,” and the

word “very” in the brackets is unnecessary. So you write:

0

very

Write ONLY the unnecessary word or phrase in the boxes on your answer sheet.

Note that completed sentences do not necessarily begin with a capital letter,

20. A : He is a journalist rather than a scholar.

B : [as / a journalist / a scholar / he / is / much / not / so / than).

21, A : We cannot but admire her courage.

B : [admiring / bravery / cannot / help / her / it / we).

22. A '] think that he is honest,
B :[as/as/be/can /far / he / 1/ if / know / trusted].

23. A : We were completely exhausted by the long discussion.

=

: [conversation / extended / out / the / totally / us / was / wore).



Part 1

Questibns 24-31:
Read the following text and choose from A-I the option that fits each blank 24-31).

Write the correct letter in boxes 24-31 on your answer sheet. There is one extra

option that is not used.
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(Adapted from David Brown, “Scientists partially reconstruct genome of extinct mammoth”,

the Washington Post, November 20, 2008.)

A. definitely heading in the right direction toward acquiring an extinci genome

B. their massive bodies

C. still firmly the domain of science fiction

D, insects

E. likely to be accomplished soon

¥. prehistoric humans

G. a relatively rapid shift, a relatively recent shift and a dramatic change

H. comparing the sequences with the genome of the modern African elephant

1. a specimen
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The examination continues on the next page.



Part 2

Questions 32-42 :
Read the following text and answer the questions that follow. Write the correct option

in boxes 32-42 on your answer sheet,
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(Adapted from Peter Gray, “Risky Play: Why Children Love It and Need It", Psychology Today,
2014, https://www.psychologytoday.com/intl/blog/freedom-learn/201404/risky-play-why-

children-love-it-and-need-it)

Question 32 :
According to the article, what are the common characteristics of the six categorieé of
risks that attract children as c¢lassified by Prof. Sandseter? @
A. They contain a reasonable amount of risk that adults recommend, and are in an
environment where children can play f_reely.
B. They contain a reasonable amount of risk that adults choose, and are in an environment
where children are encouraged to work hard,
C. They contain a reasonable amount of risk that children can handle, and are in an
environment where children can play freely,
D. They contain a reasonable amount of risk that children should be deprived of, and are

in an environment where adults organize the play.

Question 33 :
Choose the most appropriate title for Section 2.
A. The evolutionary value of risky play
B. The historical value of risky play
C. The market value of risky play "
D. The social value of risky play



bw.24j.8056
テキストボックス










　　　　　　　　この部分につきましては、著作権許諾の都合により公開しません。



Question 34 :

According to the article, what is the common feature we can see in risky play of
_ _ )

young mamnmals?

A,

They are born to control their fear and anger.

B. They are born to avoid danger that they cannot cope with.
C.
D

. They deliberately put themselves into fear-inducing situations.

They deliberately expose themselves to risks that they cannot endure.

Question 35

According to the article, what does the author mean by the benefits must outweigh
' )

the risks?

A. Risky play can prevent young mammals from having a negative experience that they
would otherwise encounter in their future lives. |
B. Risky play can prevent young mammals from learning emotional recovery.
C. Risky play can provide opportunities to learn how to adapt in situations that young
mammals will inevitably encounter in their future lives.
D. Risky play can provide opportunities to overact with fear in difficult situations,
Question 36 :

Based on the information contained in this article, what does the author mean by in
[

this way?

A,

‘Where scientists have come up with methods to prevent young rats from engaging in
play without preventing them from having other social encounters.

Where scientists have figured out how to get young rats to engage in play without
interfering with other social encounters.

Where scientists have struggled to find means to allow young rats to engage in play
while still allowing them to have other social experiences.

Where scientists have struggled to find means to prevent young rats from engaging in

play while pressuring them to have other social experiences.



Question 37 :

Choose the most appropriate title for Section 3.

A.

The harmful consequences of play deprivation in our culture today

. The nostalgic digression of play deprivation in our history

B
C.
D

The revised consequences of play deprivation in our society today

. The unexceptional digression of play deprivation in our lives today

-Question 38 :

Based on the information contained in this article, which of the following is NOT true

about the characteristics of children’s play in thgs} 195057

A,

The children organized their own play and they sometimes imitated what adults did
and had fun playing, feeling like adults.

Adults and society were tolerant of what children did, sometimes allowing them to play
and behave in ways th.at would not be tolerated today.

Adults and society deprived children of opportunities for free play for the sake of their
schooling or to protect them from danger,

The attitude of the parents was that, although there were some restrictions, there was

a high degree of freedom regarding children’s play.

Question 39 :

Choose the most appropriate title for Section 4,

A.

Encourage children to give their all in pursuit of success

. Encourage children to specialize in a competitive sport

B
C.
D

How to restrict children’s freedom to embrace risks

. Play must be free play, not coerced, managed, or pushed by adults



Questions 40—42 :
The following sentences are a part of a text on another topic written by the same

author based on the emotion regulation theory. Complete the sentences below by

choosing the most appropriate word A-H below for Questions {02,

A AN AN A AN NSNS NN NN NN NN AN NN NN

(Adapted from Peter Gray, “Benefits of Play Revealed in Research on Video Gaming”,
Psychology Today, 2018, https://www.psychologytoday.com/us/blog/freedom-learn/201803/

benefits-play-revealed-in-research-video-gaming) ‘
WN\AMN\MNWWW\NV\AAMAWM/V\AM‘V\/WWMNW\MMAW

Words

A. disrupt
practice
evidence
fewer
fun
larger

more

= o mEU oW

regulate
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The examination continues on the next page.



Questions 43-53 :
Read ihe following text and answer the questions below. Write the correct letter in

boxes 43-53 on your answer sheet,



bw.24j.8056
テキストボックス

























　　　　　　　　この部分につきましては、著作権許諾の都合により公開しません。





bw.24j.8056
テキストボックス




























　　　　　　　この部分につきましては、著作権許諾の都合により公開しません。





bw.24j.8056
テキストボックス

























　　　　　　　この部分につきましては、著作権許諾の都合により公開しません。



(Adapted from Michael Eisenstein, “Does the human lifespan have a limit?", Nature, 601, 2022,
52584)



bw.24j.8056
テキストボックス























　　　　　　　この部分につきましては、著作権許諾の都合により公開しません。



Questions 43-44 :

The graphs below show the relationship between age and mortality. Choose the one
(A, B, C, or D) which best fits the concept of each researcher.

43 Benjamin Gompertz

{44 Elisabetta Barbi

A

!

uy]

Mortality
Mortality

e

Age

O
O

Mortality
Mortality

T

Age

Age

Questions 45-47 :

Choose the word (A, B, C, or D) that fits each blank {5-{) in the text. Write your
answers in boxes {5-{]).

{45)
A. centenarians
B, demographers
C. students
D. supercentenarians



©orp

o=

challenges
data
Errors

staff

broke
gave
moved

passed

Questions 48-53 :

Each question contains two sentences, Choose the appropriate letter, A, B, C, or D,

and write your answers in boxes ({853,

A

Statement 1 and statement 2 are both true.

B. Statement 1 is true, but statement 2 is false.
C.
D

. Statement 1 and statement 2 are both false.

Statement 1 is false, but statement 2 is true.

The pattern of weightrelated mortality during a considerable portion of the human

lifespan appears to be precisely mapped by Gompertz’s model.

It is speculated that medical advances in controlling senescence and treating chronic
disease could bend the Gomperiz's curve.

A researcher has pointed out that inadequate or misleading record-keeping is one of

the most significant challenges when studying supercentenarians,

The International Database on Longevity provides data on supercentenarians with both

the quality and sample size suitable for statistical analysis.



Q)

62

A researcher suggests that the plateau is due to the inadequate number of individuals

required to generate reliable mortality data.

The record for the longest known human lifespan, held by Nikolay Zak at 122 years
and five months, remains unbroken.

According to a researcher, the odds of anybody getting to be more than about 120 or
125 shrink if the plateau is simply an artefact.

Increasing the average life expectancy could potentially lead to a greater number of
individuals reaching an extreme old age by creating a higher number of infants.

Over the past decade, there has been much progress in improving life expectancy in
the United States and United Kingdom.

Evidence presented by researchers indicates a consistent increase in life expectancy for
individuals in their 60s in the United States, Japan, and China.

Wealthy nations have an advantage over low- and middle-income countries in terms of

life expectancy.

According to a researcher, the exceptionally elderly are still subject to the randomness

of nature’s coin toss.





